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FR | 50m 10] 10 |/v4 gRE 0 4211

9 |/N4 | A Sk 46.64

7 /2 E S 47.39

8 |/N3 | FBIE BETF 54.60

15 18] 16 | &2 | B HXHE 30.82
[toom | ~ 10|10 |ms | xm o= [ 11104
(400m |13 ~ 14|13 |2 | x5 2 | 50701

BA | 50m 1] 7 |/h2 | HFEF =& 49.98

9 /M4 =E EH 51.64

BR | 50m 1010 |/h5 | EO L 43.09

9 /N4 | A Sk 53.28

8 |/N3 | FBIE BETF 1:01.95

11 12112 |91 |RBE FLE 40.36

12 | &1 & FiF 47.27

15 18l 16 | &2 | B HXHE 38.06
(toom| ~ 10| 10|ms | =oomm | 13207

11 12112 |91 | RBE FLE 1:29.42

12 | &1 & FiF 1:42.52

13 1413 |2 | ZH 2D 1:31.73
(200m |13 ~ 14|13 |2 | s s | 31704

FLY| 50m 10] 10 |/v4 gRE 0 45.41

IM | 200m 0] 10 |/h5 | B =£HF 3:02.52
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FR | 50m 1] 9 |/h4 BRIE BR 38.82
10 | /5 it FE 41.25
8 | /M3 K3 B 42.20
9 |/M4 | FIER #RKEH 48.38
11 12112 |1 mk & 30.96
13 14113 |92 | I B3 31.44
15 18|17 |&3 B% 188 25.76
(1oom| ~ 10| 10|ms | marom= | 11530
11 12| 12 |1 | Ak &3 1:09.18
13 14 13 | &2 =5 # 1:01.94
13|52 | N BH 1:05.94
15 18|17 |&3 B% 188 58.55
(400m |13 ~ 14| 3]|m2 | =& 8 | 43301
BA | 50m 10 10 |/h5 | A XA 43.55
9 /M4 BRE R 4471
8 | /M3 K3 B 47.95
[1oom |  ~ 10| 10|ms | mEm ok | 13347
BR | 50m 0] 8 /M3 | HL BR3 50.08
10 | /5 it FE 52.78
8 |/h3 | W &8 52.83
9 |/M4 | BTER KA 55.54
11 1212 |1 | & —% 42.00
toom |11 ~ 12| 12|t |k —z | 13100
[ 200m |13 ~ 14| 13 |2 | = ome | 24724
FLY| 50m | 9 10|10 |/h5 | BEX 1E2 39.72
7 |/h2 | 4@ 1EH 47.95




